ALGEBRA NAME: hﬁf' 4

Chapter 5 Formative Assessment #3 PER: ) -

1.} Graph, without a t chart, the equation 2.} Write the equation of the graph shown below
y = -|x+2| +1. il .
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4.) The scatter plot shows the weight and height of basketball players. Use the scatter
plot to answer the following questions.
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a.) Draw the line of best fit to show the correlation. { {4
b.) What kind of correlation is it? Describe using the labels on the scatter plot, what the correlation
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c.) Write the equation for the line of best fit. Show all work. [P forSsee™s il \;‘5 ¢ "J ,
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d.} Predict the weight ofapld\ erif they dl'cé?g._f(—_‘ﬂ_ﬁg_ g‘ShOW all work. . TF T ; \;{u!‘ .
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5.) Write the equation of the lme perpendicular to -2x+4y = 8 and goes o W /L_} -,
through the point (-1, 3) ~ tp fay X Cocts i ot x|
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